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1. Answer all questions,

2. All questions carry equai marks,

3. Only cne answer is to be gdiven for each question,

4. If more than one answers are marked, it would bs treated as wrong answer,

5.

Each question has four alternative responses marked serially as 1, 2, 3, 4. You have to darken only one circle
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means an incorrect answer or mora than one answers for any question. Leaving all the relevant circles or
bubbles of any question blank will not be considered as wrong answer.)

7. The candidate should ensure that Series Code of the Question Paper Booklet and Answer Sheat must be
same after opening the envelopes. [n case they are different, a candidate must obtain ancther guestion paper
of the same series. Candidate himself shall be responsible for ensuring this.

8. Mobile Phore or any other electronic gadget in the examinaticn hall is strietly prohibited. A candidate found
with any of such objectionabie material with hirmher will be strictly deait as per rules.

9. Please cirrectly fiil your Roll Numbar in Q.M.R. Sheet, 5 marks will be deducted for filling wrong or incomplete
Roll Number,

Warning : If a candidate is found copying or if any unauthorised material is found in his/her possession, E|R.

would be lodged against hinvher in the Police Station and he/she would liable to be prosecuted under
Section 3 of the R.PE. {Prevention of Unfairmeans} Act, 1992. Commission may also debar him/her
permanently from all future examinations of the Commission.
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1 Which of the following domcstic amimals was not known to the Indus Valley people ?

(1) Cow (2) Bull
(3) Buffalo (4) Horse
%@ﬁ%mﬁﬂ%@ﬁﬁ%%ﬁmqﬂ%nﬁ%ﬂaﬁf& ?
() T4 (2) @
(3) ¥ (4)
2 Which of the following is not part of the Vedic literaturc ?
(1) Thc Brahmanas (2) The Aranyakas
(3) The Upanishadas (4) The Bhagavad Gita
et F @ @ ARkw wied w1 owm T §7
(1) &I (2) VIR
(3) sufFug (4) Eg W
3 Which of the following is not included n the tcachings of Budhism ?
(1) Four noble truth (2) Panch Anuvrat
(3) Eight Stcp Path : {(4) Non-violeace
WMﬁ%MﬁT&H%%@?ﬁﬁaﬂqﬁmﬁ%?
(1) =R 3 q4 _ (2) <@ LA
(3) ovife W @) orfdar
4 Who was the author of 'INDICA' ?
(1) Chankya (2) Alexander
(3) Megasthenes (4) Scleukos
=RgHr T TGF HiT AT 7 ‘
(1) <o 2) Tt
(3) e 4) degwd
5 Who was the composer of 'Prayag Prashasti ?
(1) Ban Bhat (2) Haishen
(3) Chankva (4) Harsh Kavi
T g @ TEHRIR @i o ?
(1) T (2) wET
(3) = 4) T @
6 Who among the followmg was initiator of Bhakti Movement in Northern India ?
(1) Nanak (2) Kabir
(3) Ramanand (4) Dadudayal
PrRiad § § B SO0 WRa ¥ vk e @ gede 9 7
(I) =% (2) wER
(3) TR (4) TRRER
7 What were the sufi followers called ?
(1)  Murced (2) Peer
(3) Waris (4) Sheikh
B g @ aEr wel S av?
(1) 7iE 2) W
3) af@ @) @
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8 The Chief of Army during the Mughal administration was known as

(1)  Fauzdar (2)  Decewan
(3)  Mecerbakshi (4)  Subedar
T 9T & IRA N F GRew F Rew T @ wew s ar?
() WeRR 2) dam
(3) HArmeh 4) ¥
9 During the reign of Auvrangzeb at which ptace m Southern India the Mughal Governor
Shaista Khan was attacked by Shivaji in the night.
(1) Rajgarh (2) Par
(3}  Punc (4)  Panhaia

ST & i afw wwd ¥ g g R et R e @ B

(1) e (2) ur
() T 4)  u=Em

10 Revolutionary Sepoy Mangal Pandey revolted at the cantonment of :
(1)  Mcerut (2) Nascerabad
(3)  Delhi (4)  Barrackpore
wifaeErll R s a3 ReEe Brg wed § Reary
() e 2) “EHrEr

@) Rwh @) AR

T Who was the first President of Indian National Congress 7

()  A.O. Hune (2)  Womesh Chandra Banerjec
(3)  Surendra Nath Banerjee (4)  Gopal Krishna Gokhale
IR I B B waw sreme @y oar?
(1) u o w=w (2) AT T g
(3) G Tl (#) T Pwr TRae
12 Mahatma Gandhi launched the Civil Discbedicnce Movement on
(1) 12 March, 1930 (2) 13 March, 1931
(3) 12 December, 1931 {4) > May. 1932
@ e W ¥ ufrT srer eneies Sen
(Iy 12 9/l 1930 (2) 13w, 193]
(3) 12 Ry, 1931 4) 393, 1932

13 Which day was declared to be celebrated as 'Dircet Action Day' by the Muslim Leaguc
for creation of Pakistan ?
(1) 17 April. 1940 (2) 16 August, 1946
(3) 15 December, 1946 (4) 14 August, 1947
i i S mfewr @ Pt & R feg B @) vorr el R ¥ v ¥
A By ? .
(1) 17 &0, 1940 . (2) 16 97, 1946
(3) 15 Rmay, 1946 (4) 14 svrE, 1947

36_A] 3 [ Contd...




14

16

17

18

19

Who was the originator of 'Social Contract’ theory which influenced the French
Revolution ? '

(1) Montesque : (2y  Rousseau
(3) Didro (4)  Voltair
‘mﬁ%ﬁﬁm’%ﬁaﬁwmﬁiﬁﬁmmﬁmﬁmﬁ%ﬁm@ﬂﬁm?
(1) T 2) ®\

(3) T (4) @At
Which party led the Russian Revolution of 1917 ?

(1)  Socialist (2)  Narodnik
(3) Bolshevik {4) Menshevik
lo17 & = Wity @1 dgm Bew ww A Rea?

(1) gt (2) AUEEE
(3) s @) i

During American War of Independence. under whose leadership, a five member
committee prepared the ‘Declaration of Independence’ ?

(1) George Washington " (2) Thomas Jcfforson

(3) Benjamin Franklin 4) John Adams

AT A g & s Ao v fee dge ¥ o wel @l
wffy 7 dar fEar?

(1) W& AT () omFE JAHEEH

(3) SRR Bkt (4) W T

The League of Nation came into being on— .~

(1) 10 March, 1919 {2) 13 March, 1919

(3) 10 January, 1920 (4) 12 January, 1921
H g afmE J

(1y 10 =, 1919 ) 15 9, 1919

() 10 o=, 1920 (4) 12 sEEd, 1921

In which vear thc UN.O. came into being ?

(Hy 1944 (2) 1945

(3) 1946 (4) 1947

g TA. el (g g wm) & e Rew el ¥ g ?

(1y 1944 (2) 1945

(3) 1946 @)y 1947

Who among the following leaders was not founder of "Non Aligned Movement" ?

(1) Stalin (2)  Nasir

(3) Tito (4) Nchru

frefrfag IOt ¥ ¥ o oEa ondtes % dwnes § FE ar?
(n e (2) G

3y &= (4) TTE
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26 Match the following and sclect the correct answer using the code given below

(A)
(B)
(©)
(D)

Pass : Mountain range
Zojila (iy  Pir Pamjal
Banihal (1)  Great Himalavas
Photy La (i} Ladhak range
Khardung La (iv)  Zaskar range

Code :

(1)
(2)
(3)

(A) - (i), (B) - (ii), (C) - (i). (D) - (iv)
(A) - (), (B) - (i), (C) - (iv), (D) - (iii)
(A - (). (B) - (iii}, (C) - (i), (D) - (iv)

() (A) - (v). (B) - (i), (C) - Gii), (D) - (i)
%ﬁ%%@%%w&YWW.m@aﬁwmm
g -
il g Aol
(A) it (i) UR Yo
(B) wifEm (i) Fga R
(C)  wigar (iti) wErE 3ofy
(D)  wEem (iv) wTeRY Sofy
{{ :
(1} (A) - (i), (B) - (ii). (C) - (i), (D) - (iv)
2) (A - (D). (B) - (i), (C) - (iv), (D) - (iii)
() (A) - (), (B) - (iii), (C) - (i), (D) - (iv)
@) (A) - (iv), (B) - (i), (O) - (iii), (D) - (ii)
21 March the following :
{a)  Sliding contiment thcory (1) Jeffreys
(b) Thermal contraction theory (i) Kober
(¢)  Geosynclinal theory (iii) Holmes
{d) Convectional current theory (iv) Daly
Code :
(@) (b) (c) (d)
() () (i) (iv) (ii)
(2) (i) (tir} (1) (iv)
(3) (i) (i) (i1) . (iif)
(4) (i) (1v) (i1) (i)
Prefufaa @ gif &R
(a) TerEME e faara (i)  SrmNT
(b) U TpET famrm (i) e
©) ga=ik Ry (iii) =g
(d) HaeT ai fawra (iv) W
FT
(2) (b) (c) (d)
() @ (i1) (iv) (i1i)
- {2) (i) (tir) () (iv)
(3} () (1) (i) (1)
4 (i) (1v) (if) (1)
36 A 5 [ Contd...
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23

Match the following and select the correct answer using the code given below :

Type of climate (Kocppen) Areas
(A)  Amw (i)  Arunachal Pradesh
(B) Aw (i)  West Coast of India
(C) Bwhw (iii) Most of the Peninsular Plateaus
(D) Dfc {iv) Westcrn Rajasthan
Code :

(1) (A) - (i), (B) - (iiD), (C) - (iv), (D) - (1)

(2) (A} -~ (i), (B) - (i), (©) - (), (D) - (iv)

3 (A) - (D) (B) - Giv), (C) - (). (D) - (111)

@ (A) - Gv), (B) - (D), (€) - (i), (D) - (i)
ﬁmﬁiﬁﬂﬁa&rgﬁ%aaﬁﬁmqé%%qnq@zmmmgqaﬁwwm
HINT

AAETG W G (i) e
(A)  Amw (i) GTEUTE W
(B) Aw (i) WG W v 9
(C) Bwhw (i) WA e ¥ iy Wi W
(D) Dfe (iv) ufyed e

? :

(1) (A) - (i). (B) - (D), (C) - (v}, (D) - (D)
@) (A) - (i) (B) - (i), (C) - (. (D) - (V)
3)  (A) - (). (B) - (), (O) - (i), (D) - ()
@) (A) - (iv). (B) - (i), (C) - (i), (D) - (ii)

Examine the following statcments and sclect the correct anssver using the code given

below :

(A) Mango showcrs arg pre-monsoon showers in Kecrala and Coastal areas of
Kamataka.

(B) WVith blossom shower, coffec flowers blossom in Kerala and nearby arcas

(C) Non westers arc duststorms in western India

(D) In Assam thunderstorms arc known as "Bardoli Chhcerha'.

Code :
(1) (A) and (B) are correct (2) (B) and (C) are correct
(3) (A). (B) and (C) arc correct @) (A). (B) and (D} are correct

R e WX RraR AR TE A §E %1 STEN B §C aE SUX w9 A
(A) ary aul H G add wAew § qd AEgs aern ¥

(B) Waﬁaﬂ?ﬁﬁmﬁaﬁmﬁmaqldﬂlqm%ﬁﬁ'maqlﬁfﬁﬁmﬁm%l
() @ Tord oiem wre ¥ g vl el )
(D)mﬁ‘uﬁwaﬁwsmﬁaﬁgwwﬁaﬁ‘m@ﬁ@a’ww%l

‘fc’ H
(1) (A) aiX (B) &1 ¥4 Q) (B &7 (C) T 7

(3} (A). (B) &X (C) 981 %) (4) (A), (B) ¢iR (D) F& ¥I
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In pure and dry air of atmosphere, the combined pereentage of nitrogen. oxygen and
carbon-di-oxide is -

(1) More than 99 (2y 98 to 99

(3) 97 to 9§ 4) 96 to 97

TGTSH A IR T g% ag ¥ e, I U B 3 orgE @ e
qfase g ¥

(1) 997 ofirs (2) 98 ¥ 99

(3) 97 & 98 (4) 96 ¥ 97

Match the following :

(a) Bora (1)  Adriatic sca
(b}  Simoom (1) Eastern part of Sahara
(c)  Mistral (ii1)  Arabian desert
(d)  Harmattan (iv)  France
Codes :

(@) (b) (c) {d)
(M (11i) (v} (11)
(2) (i) (1v) (1) (1)
(3) (i) (1ii) (iv) (D
YR} (11) (1ii) {v)
(a) = () dafen amx
by faqm iy wow & qdl
(c) fPrgw (i) SR F JoRIw
(d) eCIZeM _ (iv) wiE
F

(a) (b) (c) (d)
Iy @ (iti) (1v) (1)
(2) (i) {iv) (i) (1i)
(3) (i) (ii1) (1v) (0
4 (i1) (ii1) {tv)

The currents in which of the following occan change their flow direction twice a year
due to north-east and south-west monsoon winds 7

{1) Northern Pacific Ocecan (2)  Southern Pacific Ocean

(3)  Southern Indian Ocean (4}  Northern Indian Ocean
ﬁﬁﬁ@mﬁﬂqmﬂﬁw&?%wﬁﬂf%ﬁﬁﬁﬁHWﬁm
T F & an el R ¥ afedw e ¥

(1) 3=l v e 2y ol var T

(3) <Rl fg wErmmT (4) w9l o= wEETR
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Arrange the following staies in descending order according 10 density of population
n 2011 and select correct answer usmg code given below :

(i) Kcrala (ii) Bihar

(it) Wesl Bengal (iv) Uttar Pradesh
Code :

{n M (i1) (1i1) (v)

(2) () (1ii) (1) (iv)

(3) (i) (i1) (1) (iv)

) (iv) (1) (1) (ii1)

ﬁwﬁwﬁﬁﬁﬁﬂ)nﬁmﬁmw%mwmﬁﬁmﬁﬁﬁaw%
ﬁﬁnﬁwzﬁrmm&@ﬂﬁwmwaﬁrﬁsﬁ:

(iy A (i) Re
(i) ofyEH ¥ (iv) U 9&A
FE ¢
(n (B (i1) - (i) (1v)
2) (i11) (i) (iv)
(3) (i) (i) {1 (iv)
@ (V) (1) (1) (1i)
The most important resources of lignite in Rajasthan are located at :
(1) Paltana, Agucha and Merta (2) Palana, Kapurdi and Sonu
(3) Kapurdi, Merta and Somu (4) Kapurdi, Merta and Palana
o ¥ wgE oA Rege e fed ¥
(1) T, ST TE e @) @, BE TE A
@) wged, s ud "W (@) g, FA G I
Make the pairs of rivers to their place of origin :
(A) Ganga (i) Multai
(B) Chambal (iiy Gaumukh
(C) Son (i) Janapav
D) Tapi (iv) Amarkantak
Code :
(A) (B) O (D)
(1 (i) (1) (iii) (iv)
2y Gy (i1i) (1v) (i)
(3) (i) (i1) (iv)
4) (i) (i1) (i) (1v)
W%{ﬁ@aﬁﬁ@ﬁiﬁmt@%ﬁﬁ%m:
(A) T (i) TR
(B) T () @
(C) @ (i) SR
(D) | (iv) oTHeD
{:‘.’ :
(A) (B) ©) (D)
(1 (i) (1) (iii) (iv)
(2) () (iii) (1v) (i)
(3) (1t1) (i1) (iv)
(4) (i) (i1) (1) (1v)
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32

33

34

35

36

According to 2011 litcracy rate of Rajasthan is

(1) 68.06% (2) 62.34%
(3) 80.73% 4) 67.06%
2011 & TR USRUF W Wl o b

(1) 68.06% (2)  62.34%

(3) 80.73% 4) 67.06%
The position of the Earth-Sun at minimum distance is :
{1)  Perihelion (2)  Aphelion
(3} Perigee (4} Apogee
gl o g @ Frwed 38 el Rafy @ wey ¥

() TuER (2) oTwiY

(3) 3Buyg (4) &9y
Agulhas current flows in the ocoan

(1) Atlantic (2)  Antarctic
(3) Indian (4) Pacific
FIERE T o wET F yadig @ & @w L -

(1) oremmies (2)  ovedgiew
3) f= (4) v

The atmospheric laver included in heterosphere, is

(1) Troposphere (2)  Stratospherc
(3) Mecsosphere (4)  Ionosphere
fow wvsw ¥ whafre agrvew @ wa ¥ -

() & woee (2) E¥AN AqvEE
(3) =% Hueg (4) Eq gusg

According to the census 2011, the state having the minimem percentage of population
of India, is :

(1) Goa (2)  Tripura

(3)  Nagaland {4) Sikkim

§F 2011 & SRR WG @ SO B A sied Ry wo F % ag %
(1) e 2y Fga

(3) e 4) Fefrpm

All longitudinal lincs

(1) are great circles (2) are equi-spaced

(3) radiate from the poles (4) arc highly curved lincs
T AR @ e ¥ -

(1) gea g | @) W -

@) yat ¥ el Tand (4)  oriE awET
'Moho' line scparates

(1Y  Crust and mantle (2) Nife and sima

(3)  India and China (4) Indita and Myanmar
wrEr Y Ty el ¥ -

() Wi ¥ e 2y % 3 @ @

(3) ¥Rd T 9 A (4) W@ T TEEER @)
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41

42

The direction of westerlies m the southern hemispher

(1) north cast to south west (2) south west to north cast

(3) south east to north west (4) north west to south east
et T ¥ wgenw Tl & faem AN ¥ - |

(1) = - g ¥ e - e ) - ofew ¥ e - @
(3) ahwr - @ ¥ s - dvEm @) wax - T § R - @

If the earth's rotational speed is doubled, the semi-diurnal tide at a place will be delayed by

1
H 65 minutes (2) 13 minutes

(3) 26 minutes 4y 32 minutes .
qﬁa&wﬁnﬁaﬂmﬁaﬁ%ﬁwﬁﬁeﬁwﬁmaﬁaﬁ@--—%ﬁmm
¥ g faae @om, 9% ®

1
(1) 65 e 2y 13 firme
3) 26 e @) 32 frme
In India. the highest contribution to GDP ic. Gross Domestic Product is from
{1) Primary sector ' (2) Secondary sector
3)  Tertiary secctor (4)  Exclusively agriculture sector
W%WWW(GDP)ﬁwﬁWWW%?
(1) ot & _ ) fudram &=
(3) JTEs & @) Haa pH A

Which of the following methods is selective oredit control method used by
Ccentral Bank ?
(1) Change in Bank ratc (2) Open Market Operations

(3) Change in Cash Reserve Ratio (4) Moral Suasion

Wﬁﬁﬁﬁﬁa%mm@aﬁa@mﬁﬂmﬁﬁaﬂ%%—
(1) %% 7 F uiEad @) @& se F R
() g o ogua ¥ whew  (4)  Afrw swE

National income in India is estimated by

(1) Planning Commission (2) Indian Statistical Institute

(3) Central Statistical Organization (4) National Samplc Survey Office
G ¥ UHE A SAIeG @ S 8 -

(1) e SEE Ea (2) WA gt €4 &

(3) WwEm wifemdl e &3 @) T e wdae enfed gy

Disinvestment mcans

(1) A process of nationalisation

(2) Selling public scctor cnterprises to private scctor
(3) Decreasing  1avestment

(4)  Increasing savings

rfrder wr et ¥ -
(1)  TErFaTr & TiRaT () IR A 3 SumRi T s & S
(3) Trasr wer @) 9ad ger
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46

47

Total Utility is maximum when
(1) Marginal utility is zero

(2)  Average utility is zcro

(3)  Marginal utility is maximum
(4} Average utility is maximum

FA UM erfudaw @l T oo
(I} dm=r Swdifer s &

(2)  ofed swEifeEr g @

(3) dm=1 SuaAfir afireaw By

4) oraa svaifmr ofyeay W

The type of uncrmployment seen in India's agriculture scctor is

(1}  Frictional (2) Cyclical

(3) Open (4)  Disguiscd

W F pi A ¥ U o awdt e ¥ -

(1) oo (2) w=E

(3) g @) ol &

Broad Money refers to

(1) M, (2) M,

(3) M, 4) M,

fomga o & Ty 3

() M, (2} M,

(3) M; 4y M,

Margmal Rate of substitution between two normal goods along an indifference curve js -
(1)  Constant {2y Zero

(3} Increasing (4)  Diminishing

TR T TR WA TG wer wheam @ S a3
(1) Rz 2) =

3) wEd & (4) we g

Which of the following is the basic cause of cyvclical umemployment ?

(1) A gencral deficiency in the demand for goods and services

(2)  The reluctance of workers to miove to other parts of the country where work
is available

(3) The mability to change occupations because of lack of skills

(4)  Workers' ignorance of opportumties of cmployment

Freifofes & 4w e @ TIE W BT B 7

(1) agelt ok damell & =f1 &1 apmg

(2) Wﬁ‘(ﬂﬁ{&)m%&r%ﬁ%ﬁ,mﬁmm@%ﬁrﬁﬁm

(3) gsm%aw%wwwmﬁaﬁwﬁrﬁwa

@) "o W I F el B ST wr en
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48  If the Reserve Bank increases the bank rate and sells goverment securities in the open
market, it will lead to

(a) an incrcasc in money supply (b) a rise in the cost of credit
(c) a decrease in money supply (d) a decrease in the cost of credit
Choose the correct answer
(1) (b) and (c) are correct (2) (a) and (b) are correct
(3) {c) and (d) arc correct (4) (a) and (d) are correct
ﬁﬁﬁé%,%ﬂﬁm%mmmﬁﬁqﬁwﬁm%ﬁ
T A B -
@ % R § ghe () wr@ H e & gha wE
© qF I§ F B e @ G@ @ wm A e
Tel —
(1) () & (o) T F @) (a) o (b) W ¥
3) (c) X () T F @ (2 o @ wE

49  GDP Deflator is equal to
(1) Nominal GDP Real GDP (2) Nominal GDP + Real GDP
(3) Nominal GDP + Real GDP (4) Nominal GDP - Real GDP

“GDP SERRETE aUET AW ¥ -
(1) +ife GDP x qrEfam GDP (2) HiEw GDP = et GDP
() s GDP + Irafu®e GDP (4) +ifs® GDP - awfew GDP

50 1f the actual upemployment rate is below the natural rate of unemployment it would
be cxpected that
(1) The rate of inflation would increase
(2) Wages would fall
(3) Natural ratc of unemployment will fall
(4) Demand for goods and scrvices will fall

uﬁmﬁmﬁwﬁrﬂ,aﬁmﬁﬂu@ﬁnﬁﬂﬁ%%,ﬁ-
(1) W#aﬁq@#ﬁ

@)y wEgd fie s

(3) Foerrd A wpfie @@ PR wwed

(4) a@aﬁeﬂiﬁmﬁa&ﬁnﬁfﬁaﬁﬁ

51  When the income elasticity for a good is negative, the good is

(1) Normal good (2) Giffin good

(3) Inferior good (4) Luxury good
uﬁﬁﬁéﬁa@%ﬂﬂqmﬁmwﬁa‘r%a@ﬁ%—
(1) wmrFd a9g (2) iRt agg

(3) = ag @) Terefear a%g

52 When the decrease in price of onc goods causes the demand of another goods to decrease,
the goods are

(1) Substitutcs (2) Inferior

(3) Nomal (4) Complementary
mmmﬁ%ﬁﬁ%wwwm@aﬁ#ﬁﬁfzﬁﬁaﬂm,aﬂﬁ
(1) i (2) wiE

(3) €mHrA 4) Y
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54

57

The current Forcign Trade Policy covers the period of

(1)  2012-2017 . (2) 2011-2016

(3} 2010-2015 (4)  2009-20i4
aﬁmﬁ%&ﬁwﬂ%ﬁwm%m;rw% -

(1) 2012-2017 (2) 2011-2015

(3)  2010-2015 (4)  2009-2014

Economic Planning relates to

(1) Mobilization of taxes {(2)  Controlling Current Account Deficit
(3) Controlling fiscal deficit (4)  Allocation of TESOUrces

ol s w geey b

(1) =X "o ) = @& ¥ W F Pt s

(3) S uR w Rrfm g (4) EOE W o

How much is the average annual targeted growth rate of 12l Five Year Plan of [ndia?

(1) 6 per cent (2} 7 per cent

(3) 8 per cent (4) 9 per cent
Wﬁmﬁ@aﬁqmaﬁeﬂwaﬁwmﬁqﬁgam%?
(1) ¢ gfasg (2) 7 ufiagrg

(3) 8 ufwerm (4) 9 wfgem

Demand curve will be rectangular hyperbola if the price clasticity of demand for the
commodity is :

(I} Infinity (2)  Unity

(3) Less than unity 4) Zero

A UH TH I YR (STErERIR) mmzﬁm’a@ﬁrwém%w%ma@
B AT B BT A e E -

(1) orFg (2) TFE F FEY

() wHE ¥ FH CONE &l

Which among the following is not included in the National Income ?

(1)  Services performed by houscwife '

(2} Tuition fee paid in the school

(3)  Remuncration paid for singing a song

(4)  Revenue camed by sclling biscuits

Fred F & Bl e o o ¥ w2 2

() Tl g Y o et (2) ﬁmﬁq&mqﬁvmm
(3) W W ¥g REm mr ufafye 4) Toge ¥ Uy ¥ ng omg

Among the following, who is related to the Traditional Perspective of Political Theory?

(1) David Easton (2) Robert Dahl

(3)  George M Sabine (4)  Gabrial Almond
ﬁwﬁmﬁﬁ#wﬁ%-—%@a%ﬁww&ﬁw%w&m% ?
(1) 3fm f=v (2) R s

(3) e . daE 4) Ayaw s
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61

62

63

G4

Which onc of the following pairs of Thinkers and his school of thought is not
correctly matched 7
(1)  Eric Voegelin ~ Behaviouralism {2) Dunming — Historicism

3) Harold Lasky — Pluralism (4) Graham Wallas - Psychologism
ﬁzﬂﬂmoﬁimﬁﬁm—wwaﬁwﬁﬂﬁmwgﬂﬁﬂﬁqﬁ% ?
() ufte aRf - FEERIR @) ehm - shwEar

(3) FUS WR@ - SgAaK (4) UTE Amrg — AR

Who has discussed the 'Decline of Potirical Theory' ?

(1)  August Comte (2) Alfred Cobban

{3) Sammuel Huntington (4) Milton Friedman
‘Tﬁ%%@m%w'aﬁaﬂfﬁﬁaﬁﬁ%?

(1) ol &= (2) oIS i

3y Ao e . (1) Pz HEAT

Among the following, who is related to the concept of 'Popular Sovereigniy' ?
(1y Hobbes (2) Locke

(3) Roussean (4)  Austin
ﬁﬂiﬁ‘nﬂﬁf@rﬁa‘ﬁrﬁuuw’ﬁmmﬁﬁﬁmﬁ% ?

(1) weH (2) w®

(3) w4 (4) e

Among the following, what is not included in the ‘Basic Structurc of Indian Constitution’ ?
(1) Rulec of Law - (2)  Secularism

(3) Judicial Review (4)  Supremacy of the Parliament
ﬁwﬁaﬁ@rw‘wﬁv@ﬁm%qﬁaﬁ'ﬁmﬁamﬁ%?

(1) @A T (2) dataEa

(3) s gRTERIET () wEg H FareEd

Which term has been used for India's Federal System in the Indian Constitution 7
(1) Union (2) Federation

(3) Confederation . {4)  Unionist
uﬁméﬁwﬁmaﬁﬁﬁmw@%mﬁmmﬁmmﬁmw%?
(1) Hfras 2y el

(3) wESXI (4 afmE

To which Fundamental Right, Reservation in Government jobs is related 7

(1) Right to Freedom (2) Right to Equality

(3) Right against Exploitation (4) Right to Constitutional Remedics
ﬁﬁF&WﬁWaﬂmﬁﬁuﬁwwmﬁm%%?

(1) s & AUsR (2) THA B BN

3) s & freg efuer 4) wAefre S @ SfuER
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65  Among the following, which Directive Principle of State Policy has been inserted in

the constitution through constitutional amendment -

(1)  Right to work in certain cases

(2)  Living wage for workers

(3)  Provision for just and humane conditions of work
(4)  Participation of workers in management of Industries

Fretifep % @ Wm~%wﬁ%&maﬁﬁaﬁwﬁsﬁwmﬁ&[wﬁh@w%?

(D) &8 el ¥ am @ el
) @ ¥ fau frate EEER
(3) mﬁwmﬁfﬁrqﬁmzhﬁaamﬁaﬂmw
@) wartt ¥ wEg ¥ st B oam ey
66  Who has the sole authority to decide in Lok Sahba, whether a Bill is "Moncy Bill' ?

(1) Finance Minister (2) Prime Minister
(3)  Speaker (4)  President

Fﬁmﬁﬂgﬁﬂuﬁ%wwmﬁﬁ%%,ﬁsaﬁéﬁm‘m;ﬁm’%mﬁ?

() faa=n (2)  wemEN
(3) wrHEWT — oemer (4) Trsenfy

67  Vice President of India is clected by :
(1) Members of Rajva Sabha
(2} Members of Lok Sabha
(3)  Members of Both Houscs of Parliament
(4)  Elected Members of Both Houses of Parliarnent

ARA W 39 gy g s ¥ o
() T ¥ F ge@ 2) W I F weel @

(3) TEIEH AN W FueE BT (4)  §Og I we % Pratfm wewt o

68  The Judge of a High Court is appointed by
(I}  The President
(2)  The Governor of the concerned State
(3}  The Chicf Justice of India
(4)  The Chief Justice of High Court of the concerncd State

S I & ey @ Pt @) ey B

69 Which one of the following statements is correct ?
(1) 74 amendment of the Constitution makes provision for District Planning Committec
(2)  District Collector is the Chairman of this Committee
(3)  This Committee is a directly clected body
{(4)  This Committec has becn mentioned in the Part IX of the Constitution

Peifea & 4 e wa wy 20

(1 ﬁﬁuﬁmmﬁmﬁwﬁmﬁwaﬁrﬁr%ﬁmwm%l
(2) waﬁ%mawaﬁm~—mm%l

(3) =% il ww wewm: feffm fem 3

(4) waﬁ%mﬁw#ﬁm%wmﬁﬁww%l
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T

72

73

74

Consider the following statcments and select the correct code given below

(A) In December. 2013, the International Court of Arbitration at the Hague ruled in
favour of India's position on the diversion of Kishanganga water

(B) Pakistan has claimed that this diversion violated provisions of Indus Water Treaty

of 1963,
Code :
(1) Only (A) is true (2) Only (B) is true
{3) Both (A) and (B) arc true {4) Both (A} and (B) are false

ﬁﬁﬁﬁﬁﬁﬂﬁﬂf&ﬂﬁﬁﬁﬂ‘qqﬁ%ﬁqaﬁ@ﬁgﬁﬁt

(&) fEa, 2013&@—%WWW%%&WW%
ﬁ.’sn-—qﬁaéﬂww%ﬁwﬁﬁﬁaﬁm%t _

(B) m&mﬁaﬁrmm&ﬁaﬁﬂm—qﬁaﬁl%saﬁﬁigmﬁa%ﬁmﬁ

o Iewus 4Tl
Fe ¢
() F¥aw (A) 99 ¥ (2) Few (B) TF ¥
G)  (A) @@ (B), I wA ¥ @) (A) W@ (B), o o ¥
[dentify the issnc, on which India and China bave 0o dispufc :
(1) McMahon Linc (2) Hambantota Port in Sri Lanka

(3)  0il Excavation in South China Sca (4} Global Climaie Change
wﬁﬁmﬁqmwwaﬁiﬁﬁmﬁéﬁaﬁﬂﬁ%:

(1) HeFres @ ) Hetw ¥ GEEIRI GETTE
(3) SR €M 9T § AW ST @) pisdE seag wREdd

After independence, the first Indian State constituted on linguistic basis is :

(1)  Punjab (2) Andhra Pradesh
(3) Kerala (4) Gujarat
waEdar B 9E, umﬁ(mmmn%ﬁqsmﬂr&‘hﬁw%:
(1) W (2) @i wR

3) HW 4) e

Assertion (A) : The 'Congress System' ended with the Lok Sabha Elections of
November, 1989

Reason (R) : Congress was the sccond largest party in this Lok Sabha

(1) Both (A) and (R) are true, and (R) is the correct cxplanation of (A).

(2) Both (A) and (R) are truc, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) 1s false

() (A) i§ false, but (R) is true

FM (A) ¢ TEEE, 1989 % wrwEwr g % @ B JorE’ @ o & I

w9 (R) . < @ ¥ BOW @0 FE9E 1T A

() (A) T (R) 9N T ¥ T (R), (A) & o e ¥

2) (A)a(R)a’m‘r‘w%,ﬁsg(R),(A)a?raé‘rwr@ma-é’f%l

Gy (A) '@ ¥ g (R) owE EL

@) (A) saa ¥, By R ' EL

Which Workers' Union later developed as Balwjan Samaj Party ?

(1) BAMCEF () INTUC

(3) BMS (4) CITU
ﬁsamﬁm@mﬁmmwawwmﬁ%mﬁgm ?
(1) G Q) =&

(3) § @ 4 ¥
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75 'Gujral Doctrine' of India's Foreign Policy was propounded during the
Prime Ministership of :

(1) Indira Gandhi (2) PV Narasimha Rao
(3)  Atal Bihari Vajpayce (4) H.D. Deve Gowda
WA @ RRy ARy % ‘W%@a’muﬁwﬁwﬁ;ww%aisaﬁmgm ?
(1) 3fr =iy 2) @ 9 e
(3) ord faerld amnd (4) wa 3 e

76 'Right to Information' was enacted by Parliament of India in the vear !
(1) 2004 (2) 2005
(3) 2007 (4) 201!
Waﬁmm‘ﬁaﬂrwaﬁm’%ﬁaﬁﬁfmﬁrﬁaﬁﬁgm ?
(1) 2004 & (2) 2005 ®
(3) 2007 & (4) 2011 9

77 Out of the following which one is the appropriatc order of 'Hierarchy of Sciences' iven
bv Auguste Comtc ? '
(1) Astronomy, Physics, Chemistry, Biology, Sociology
(2)  Physics, Astronomy, Chemistry, Biology. Sociology
{3)  Physics, Mathematics, Chemistry, Biology, Seciology
(4)  Astrology, Physics, Chemistry, Biology, Sociology
Friciea % & wvw swyam w9 aE wiT ¥ TS W R B W W ¥
()  wieme, fmme, e, Safee, g
(2)  vifermeme, wiaRs, YEEEaTe, At e
(3) R, R, @, deRee, T
4)  ofare, sifree, @EETE, Safer, gEsTe

78  Who has stated 'Totem is the cssence of religion' ?

(Iy Emile Durkheim {2) Max Weber
(3) A.R. Redclifie Brown (4) B. Malmowski
TR o B U aeT ¥ U a9 e ¥ -
() wie gremw @) A q
(3) T oM. Tshmw waT (4) . AT
79  Prime Minister of India is an example of
(1) Office (2)  Stratum
(3)  Status-sequence (4)  Ascriptive-Achicved status
I 1 YSFE=1 SEET §
(1) w=Igsa - (2) W
(3) wRafy - ymer @) wea-gffa wRaly
80  'New Rules of Sociological Method' is written by
(1) Emile Durkheim (2)  Anthony Giddens
(3) T.B. Bottomore 4y C. Wright Mills
T §ie diEfiea fag ¥ oaw ¥
(1) i gremE Q) e fifeg
(3) < @1 sEEr @ . wEe few
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82

83

§4

86

Out of the following, which one is not the featurc of caste ?

(1) Scgmental division of socicty (2) 'Profanc-Sacred’ distinction
(3) Inhcrited traditional occupation (4)  Ascriptive status
frfufa ¥ @ arrar qwa i o fadear T8 ¥ 7

(1) T @ @O (aue @) ‘@mrE - ke fal

(3) AT YOI SEEd 4) v wRald

"Ethnocentrism’' is the characteristic of which division of group ?

(1) 'In-group and 'out-group'. (2) Primary group and Secondary group
(3) Gemeinschaft and Gesellschaft (4) Informal group and Formal group
o ety e Prfefea A @ ey W R H Pasoen ¥ 7

(1) o @Y% Td 9 R ) Wbt E U@ AARE e

) A dw @ iR dw @) orimai® @9F OF ShTieE E
The place of origin of sociology is

(1) France (2) Germany

(3) America (4)  Britain

AU G W B

(1) %@ (2) R

(3) wmE @ B

Marxian perspective to understand Indian socicty is used by which Indian Sociologist
out of the following ?

(1) Radha Kamal Mukherjec (2) G S. Ghurye

(3) [ P Desa (4) A. R. Desai
Wﬁﬁ%%ﬂnﬁumsﬁ%wﬁuwﬁwmwﬁaﬁw
B wgEd e ¥ 7

(1) <aen %5d qEs @) . wE gia

(3) oy W AR (4) T &R W

‘Role is the dynamic aspect of status' is stated by :

(1) Ralph Linton {2) R. K. Meston

(3) C. H. Cooley (4) Talcott Parsons
‘uﬁmuﬂaﬁrmww%'wﬁﬂﬂm% ?

() e fooed (2) oM. & WA

(3) @ wm T (4) e WEE

Out of the following, in which form of hindu marriage, the Sanskara of Kanya

Dana is not found

(1) Brahma Vivaha (2) Dev Vivaha

(3) Gandharva Vivah (4) Arsha Vivah
ﬁﬂ%@ﬁﬁﬁ%@ﬁﬂﬁ%ﬁsﬁwﬁ‘mﬁﬁ'wmﬁawﬁ% ?
(1) v fqamE 2) I R

(3) Td faEm @) onf fyam
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88

89

920

91

92

‘Bourgeoisic' and 'Prolctariat" as two classcs have been conceptualized by

(I)  Kart Marx (2) VI Lenin

(3)  Louis Althusser (4)  Antonio Gramsci
AT gder wd R & ST B wga e ¥
() = e ) A e whE

(3) Gy srwegEX ) A aesh

The 'Lokpal Biil' recently passed by Indian Parliament wil curb the social phenomenon of:
(1)  Corruption (2) Casteism

(3)  Communalism (4)  Violence Against Women
T W A AR §9e @ aie ewe e fow arnfves woewr @ by o 2
(1) wemrR 2) nfgar

(3)  wmRTIaEar @) ahwet ¥ e fw
‘Caste in Indian Politics' is written by :

{I)  Ram Chandra Guha (2)  Ashish Nandi

(3)  Rayni Kothari (4) A. R. Desai

T 3 e ufniem ¥ dee ¥ o

(1) e T (2) oSty A=

(3) = Ferd (4) u e FuE

Out of the following which one is not accepted as varna

(I)  Brahmani (2)  Rajput

(3)  Vaish (4) Shudra
ﬁwﬁﬁga%%ﬁﬁ%aﬁ%mﬁﬂﬁlzﬁmﬂm% ?

(1) e ) Twgm

(3) A 4 =

The contributions of LP. Desai and K.M. Kapadia arc associated with
(1) Family system (2} Class system

{3) Castc system : (4)  Religion system

aE. ¢ A9 @ % w. BUAGAT & AR N TR T

(1)  ufEr =gen (2) =t =R

(3) wnfad =aaeen (4) =t et

Arjun Sen Gupta report deals with the phenomena of
(I}  Poverty and incquality (2)  Castcism and corruption
(3)  Communalism and parochtalism {(4) International conflict and racialism

aﬁqﬂquﬁaﬁaﬁmﬁtm@ra&ﬁﬂwﬁw%
(1) TredFer wd srgwer (2) <A U9 geER
(3) wERRGT Td wrgdmE ) s dud wd gty

36_A] 19 [ Contd...




93

94

95
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97

Out of the following which arrangement is correct for social scheme of Ashrama
(1) Brahamcharya — Grahstha — Sanyasa ~ Vanyaprastha
(2) Brahamcharya — Grahstha — Vanyaprastha — Sanyasa
(3) Grahstha - Brahmacharya — Vanyaprastha — Sanyasa
(4) Grahstha - Vanyaprastha — Sanvasa - Brahmacharya

ﬁmﬁrﬁaﬁﬁ@rzﬁﬂmwaﬂwaﬁmﬁqmmﬂﬁ%?
(1) wed - TR - §E - araE
@) wewE - Te - A - I
G) TEE - weEd - G - TR
@) TEE - arEvel - A - el

Family in any socicty is the cxample of

(1}  Primary Group (2) We Group

{3) Quasi-primary Group (4)  Community

Redt o we § O SR ¥

(1y wnafs 9 2) ® W

(3) orE-WIERTE WE (4) TREH

The process of Sanskritization is introduced by which Indian Sociologist, out of
the following

(1) M.N. Srinivas {2) GS. Ghurye

(3) Louis Dumont (4)  Yogendra Singh

Rrerfifag & A FEg I GHISQET ¥ HEHRn T ) wReaT ® TouE Serd fear 3 7
(1) wA. w. FirEy ) @ ud g

() U T 4) @ e

Who aimong following has defined Public Administeation as 'detailed and systematic
cxceution of public law. Every particular application of general law is an act of
administration.’

() L. D Wit (2) Woodrow Wilson

(3) Willoughby (4) Nigro

A & A Pre® ZO AV wwEd @ Gt e W g o e e
%lwwﬁm&:ﬁmﬁwﬁaﬁf@umﬂﬁ?ﬁﬁw%'%mﬁqﬁmﬁa
R %7

(1) ud. 3. qEL ) TsUu faw

(3) e (4) v

Propounder of 'POSDCORB' in Public Administration was

(1Y FW. Tavlor (2) Luther Gullick

(3) Max Weber : (4) Henri Favol

W weEE A dRewrd & WO i ar 7

(1) Th s =T Q) I I

(G) #w IR @) T wa
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Which onc of the following is not correctly matched ¢

{Thinkers) {(Nature of Public Administration)
(I}  Ordway Tead Fine Art
(2)  Reginald Gillmor An ultimate Science
(3)  Glen Negley to be highest position in the scientific hierarchy
(4) M.P. Sharma Pure Science
Frer % ¥ S o gikw 78 30
{forames) (@ o ) wh)
(1) o=y 9 ARTT e
2) OFme €. fire T T fagm
(3) T A e & wedum ¥ wete Rafy § @
@) . q. ymf = fem
How many Minnobrook conferences are held so far ?
(1) One (2) Two
(3) Three (4) Four
w9 % fF Prgs oew et gF 2?7
(I} U= 2y =@
3) dm (4) =X
Match List I with List II and select the correct answer by using codes given below :
List 1 List II
(A) Scientific Management Theory ()  David Easton
(B)  Theory X and Y (n) Herberg
(C)  Two-factor Theory (i1} Taylor
(D) Systcms Theory (iv) McGreger
Codes :
{A) (B) (8 (D)
(1) (i) (iv) (ii) (1}
@) (i) (1i) (1v) (i)
(3) (i) (tv) (i) (1)
(4) (i) (1) (ii) (iv)
@Iﬁﬁ@ﬁl’[%@%ﬁﬁmﬂm%%ﬁﬁ@?ﬁmaﬂﬂﬁwgﬁﬂi
Tar w1
(A) T wavy Ryarg (i) 3 fem
(B) fgm1 Xwd v (i) weted
©) fewem femrmm (i) ¥
(D) =gawn fagr (iv) FREr
FT ¢
(A) (B) () (D)
(1} (iip) (iv}) (i) (i)
(2) (D) (1i) (v) (1)
(3) (i) (iv) (i) (i)
4 (in) (1) (it) (1v)
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103

104

Which of the following has attempted to construct a theory of public organization in
tune with consumer interest and individual preferences ¥ -

(1) New Public Administration {2) New Public Management

(3) Public Service Theory (4) Public Choicc Theory
ﬁﬁﬁ%ﬁﬁeﬁﬁmﬁﬁmw%ﬁ@maﬁwﬁﬁmﬁ%%ﬁ@mﬁmaﬁmﬁmﬁmﬁ
% omen P & % e fear %7

(1) Taas qImes (2) TadE g

() wregar g @) <@ waT R

Which one of following is aot the major characteristic of Scientific Management Theory ?
(1) Standardisation of work methods

(2) Emphasis on human being

(3) Scientific selection and training of workers

(4)  Collaboration of workers and management
ﬁﬂﬁ@ra?ﬁmwﬁaﬁmwaﬁ@ﬁzﬁg@ﬁﬁwﬁ%?

() ot wgfy o AFHEH () AME ad 9T S

() HET W deutd A O Wi (4) Ty TE SEG ¥ aEd

Consider the following about findings of Hawthorn experiments and select correct
answer by using codes given below :

(a) The levels of production is set by social norms.

(b) Non-cconomic rewards significantly affect the behaviour of the workers.

(c) Workers act or rcact as a member of group. '

(d) Prestige of man is measured by his post or position.

Code :
(1) (a) and (b) (2) (), (b) and (<)
(3) (). (b) and (d) (4) (a), (¢} and (d)

aﬁm%ﬁﬁ%@ﬁwmmamﬁﬁ@@mmmv&w
H GG HIY

(a) e & " amtie emast s fraife s ¥

(b) mﬁ%wﬁﬁaﬁmuﬁwm@@%wﬁamﬁ%l

() Wwﬁs%wﬁsmﬁﬁwmqﬁﬁm%ﬂ%l

{d) mﬁmﬁw&r@rmww&wﬁswmﬁaﬁ%ﬁﬁr%l

? :
() (@) @& H) ) (@), () T (©)
(3) (@. b T (D @) (@), © = @

Which of the following is in correct sequence as used by Herbert Simon for his decision-
making model ?

(1) Intelligence, choice and alternatives (2)  Intelligence, alternatives and choice
(3) Intelligence, design and choice (4) Intelligence, choice and design

e & D TE G ER ST Profad 9ReT % wRel & frg wnT W wet s
B ¥ 7

(1) <fgerar, = @@ fawed 2) e, P @ =

(3) difgean, wew wd WA (4) dfgwar, T T TEd
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105 Which of the following is not touched by Behavioural school regarding organizational

106

107

108

109

behaviour ?

(1)  Motivation {2)  Leadership

(3)  Communication {(4)  Rational Structure
mnarﬁ:ﬁf%ﬁwﬁﬁﬁmwﬁ%ﬁmw%@aﬁﬁfﬁanﬁﬁww?
(1) efwon () = -

(3) "ER (4) wihe weT

Who among following defined morale as 'sum of several psychic qualitics that include
courage, fortitude, resolution and above all confidence' ?

(1) L. D. White 2) 1. D. Mooney

(3)  Mc Gregor (4) Maslow
ﬁwﬁﬁmmﬁﬁaﬁﬁ‘mmmﬁmﬁw%,ﬁmﬁm, &,
@ﬁawqﬁwﬁweﬂaﬁsm'ﬂamﬁuﬁmﬂmﬁﬁmw%?

() ud @ age 2) s S

(3) FEWR (4) Fwn -

Which one of the following is at the fowest level of the hicrarchy of needs according
to Abraham Maslow ?

(1)  Physiological (2)  Safety
(3) Love (4)  Esteem
mmﬂ"@ﬁ%a@ﬂaﬂasmeﬁ%mﬁmm?ﬁ%%?
() i (2) gan
(3) ™ (4)  HHH
Which onc of following book/essay is not correctly matched ¢

Authors Boaks/Essay
(1)  Woodrow Wilson The study of Administration
(Z) L. D. White Introduction to the study of Public Administration
(3)  W. F. Willoughby Principles of Public Administration
(4)  Felix A Nigro Public Administration in Modern Society
Frer & & o qwem / dw ol gt w8 & 2
(1) =0 Fgw T WSl o wehifde
(2) ua 4. e Wgamﬁmmwﬁrﬁém

() =& uw. fraeh i@ o ofers wefifrdem
(4) Wieww w Py ufers TERtI T Ay daed

Which term is used by Sccond Administrative Reforms Commission for Ombudsman
i India at Central Level ¢

([}  Lokpal (2) Jan Lokpal

{3)  Rastriva Lokayukta (4)  Lokayukta
ﬁa?ﬂquamﬁmgmmmwﬁ%ﬁwwaﬂ@ﬁ?%ﬁrqaﬁﬂmamw
frar %7

(1)  wreare (2) W W

3) <y SregE | @) g
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110 Which of following is cxcluded in the jurisdiction of the Lokayukta in Rajasthan ?
(1) Ministers
(2)  Chief Mimnmster
(3) Members of Services of corporation established by Statc Act
(4) Zila Pramukh and Pradhan
Wﬁm%%ﬁmﬁﬁmﬁﬁﬁaﬁﬂﬁﬁﬁﬁﬁmw%?
(1) ==
(2) '
3) _ﬂmﬁm%ﬁaﬁqﬁaﬂ‘fmwﬁaﬁ?ﬁaﬁwﬁﬁm
@) faar vgE wd vuE

111 Whom among following Governor consuits for the appointment of Lokayukta in Rajasthan ?
(1)  Chief Minster
(2) Chicf Minister and Chief Justice of High Court
(3)  Chicf Minister and Leader of Opposition in State Assembly
(4)  Chicf Minister, Chief Justice of High Court and Leader of Opposition in
State Asscmbly ‘
w&mﬁwﬁmﬁﬂﬂaﬁﬁgﬁa%mﬁﬂﬁ%ﬁmﬁmawﬁw% ?

(1) wER

@) Fewd v e e W el e

(3) g@xﬁqﬁwﬁuﬁﬂmﬁfﬁﬁﬁraﬁ%ﬁﬁm

(4) g@ﬁﬁ,ww%g@w@ﬂqﬁmﬂﬁuﬁﬂmﬁﬁﬁ%ﬁm%ﬁ
qar

112 Consider the following feature of permanent executive and select the correct answer
by wsing codes given below | '
{a) It has widc administrative experience.
(b) Suggestions given by it are binding on political executive.
(¢) It concerns with implementation of policics.
(d) It works according to rules and regulations.

Code
(1) (a) and (c) (2) (a). (b) and (c)
(3) (a), (c) and (d) ) (a), (), (c) and {d)

wﬁrmr&qrfﬁma?rﬁm&xﬁwaﬁwﬁmaﬁmifﬁnﬁwmmmﬂﬁw
H TET DY

() TE ATH GAEHE TS TE B

(b) ﬁmﬁﬁnﬁgmﬂmﬁ?ﬂmﬁmﬁﬁr?ﬁmwaﬁ%l

(c) T Ty Pl @ Geafad ¥ Tt R

(d) 3 Praq vd fafrit ¥ ogER w1 B E

EEE '
(1) (a) @@ (c) () (), (b) TE (o)
(3) (a). (c) wd (d) @ (@), ), © T (d)

{13 Which one of the following was called the Generalist Adnunistrators as
'General Purpose Service' ?
(1)  First Administrative Reforms Commission
(2) Second Administrative Reforms Commission
(3) Report of Sixth Pay Commission
{4) Report of Hota Commitice on Civil Scrvice Reforms

P ¥ Q Tead T OGEEG SOEE B OCGET W wal wE W
(1)  wg" yemEiTE gur & @) f&le gar s
(3) 6 I SR iR @)  arwdar gurd T dar affd s
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114

15

116

i17

118

119

Which onc of the foltowing statements is not correct about Pcoplc's Participation ?

(1) It is involvement of citizens in the process of admmistrative dceision making.

(2) It transforms the representative democracy to more responsive and participative
governance.

(3) 1t involves a shift from bottom-up to top-down approach.

{(4) 1t considers citizens as the recipients of development.

ﬁ?ﬁsﬂﬂﬁmﬁaaﬁffﬁfwﬁ@rmqsaﬁaﬁﬂﬁ%?

(1) qanﬁﬁzrﬂrﬁuqﬁmrﬁwﬁm‘faﬁiﬁwwﬁ%l

(2) wwmmqmaﬁamﬁﬁaﬂawmamﬁmﬁam%
(3) w‘ﬂ%ﬁw’a&mm@r‘w@r%’ﬁqﬁaﬁhm%l

() T TS F R B wrowdt e 3

The highest idcal according to Upanisad is

(1) Pleasure (2)  Material gains
(3) Moksa (4)  Dharma
SuPRl ¥ GO deaT et 3

() g& (2) ifes W
(3) e 4y e

Socrate's method is -

(1)  Experimental (2)  Conversational
(3) Mathematical (4)  Transcendental
gead @ Ry ¥ -

(1) TS (2) =tETg @y Ty
(3) +fwda ‘ 4)  egvER

Niskama karma is

(1) Performing no action

(2)  Performing an action for God

(3)  Performing action without attachment to its fruit
{4)  Performing an action for self realization

Freem &4 %
(1) =t 98 s (2) IR & B = wEr
(3) ww Wi = =BT F BT 3w (4)  onoraifa & o o e

Monotheism  means

(1)  belief in the existence of many gods

{2)  belicf in the existence of many gods and not ascribing permancnt supremacy to
any of them

(3}  belicf in the existence of only onc god

{4)  belief in only one absolute reality

THyaRarR @ ol ¥ o

(1) oFe 30 &N wer ¥ fisag

) m%m%ﬁa%wﬁ&mm,ﬁ@sﬁﬁﬁmaﬁﬂﬂwﬁrmﬁwﬁﬁmﬁﬁm

() %ad TH § fvR A WO F fryaw :

@) @ & Py e W wer s

According to Hedonism the ultimate goal of human life is :

(1)  Pleasurc (Z2) Duty

(3) Evolution (4)  Sclf perfection
GEANE & FIER AMa aT B oaw Qg ¥

() gm (2)  wd=

(3) famra (4)  oTEIgoRR
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120 Capital punishment 15 not compatible with the theory of

(1) Reformation (2) Retribution
(3) Prcvention (4)  Creation
yegeve g feaw ¥ R T O§ 7
(1) GaTE (2) UAHREAS
(3) FrawS (4) YR
121 According to Kant :
{1y Pleasure is good in itself (2) Good will is good m itscif
(3)  Self realization is good in itself  (4) Knowledge is good in iself
FUZT & HTAT
() q&@ & @@ g9 ¥ (2) g@ T9 8 wE YT 3
(3) rAtaRg @ @@ gI ® 4) = H T A ¥

122 Which of the following does not match correctly ?
(1) Kant - Duty for Duty's sake (2) Bentham - Utilitarianism
(3} Socrates — Knowledge is virtue (4 Plato - Hedonism

0y awmz - mim % R i Q) A - STEEER

(3) gaua - T A 9 @) WA - FEEE
123 Astangmarga is closcly associated with
(1) Yoga Philosophy (2) Buddhist Philosophy
(3) Vaiscsika Philosophy (4) Jaimsm
sog W e @Y wEbad ¥
(1) drEeE @) drg TeH
¢) AfvE o (@) =9 38
124 Which of the following is Discartes philosophical method 7
(1) Method of doubt (2) Method of analysis
(3) Method of synthesis {(4) Inductive method
frm ¥ ¥ @R @ adihe fufu W R?
(1) w=<g @ Rfy @) Fagewe @ fafy
(3) dydrwwr &y faik (4) oA @ faiy
125 According to Aristotle, Man becomces virtuous by :
{1) Habitual cxercise (2) Knowledge only
(3) Fcar {4) Desire for Plcasurc
sred % EN, AT WP @ ¥
(1) Treex snaw wxa ) ¥ TE EA
(3) W= 'q @) ga@ B owE A
126 Principle accepted by Mill is
(1) Egoistic Hedenism (2) Duty for duty's sake
(3) All pleasures are alike (4)  Greatest happiness of greatest numbcer
frer & Wiga ¥
(1) T E® gudar (2) i & R weE
(3) wf g@ ¥ ¥ @) ofman il @ wfimaT ga
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127 Who has given the principle of "Duty for Duty's Sake" ?

(1) Butler {2) Kant

(3)  Moore {(4)  Stevenson
‘T & Rl wder W Regra feed Rar ?

(1Y 9wt (2} e

3) = 4) wErw

128 Descartes causal argument proves the existence of God
(1) from the idea of perfection of God
(2) as the cause of the world
(3) as thc cause of the idea of God in knower's mind
(4) as caused by the act of doubting

%aﬂémrmwwaek,ésmaﬁwfé@w%
(1) 39 A giwr % e 9

(2) e & arw & wy F

(B) s & W A dyaw F REm F wror B wg
4) < B Bpwr ¥ wRom ¥ wg &

129  Match List I with List IT and select the correet answer by using the codes given below:
List 1 List II

(i)  Jainism A Niskama Karma
(i1} Buddhism B Truth is God
(iif) Bhagvad Gita C Four Noble Truths
(iv)  Gandhi D Tri Ratna
Codes :
(1) (ii) (iii) (iv)
() C A B D
(2) B D C A
G3) D C A B
@) A B D C
qﬁlaﬁ@ll%m&gﬁﬁﬁ%ﬁaﬂrﬁwﬁﬁﬁ?ﬁz%@wﬂﬁmw
T B
1 T
() 99 o+ A FeEm e
iy aF wsf B w®@ $wx %
(i) et C =X oid qu
(iv) TR D frw
Fe :
0 (i) (i) (iv)
n ¢ A B D
(2) B D C A
3) D C A B
4) A B D C
130 The scheme of Varnasrama dharma does not include
(1) Individual morality (2)  Social morality
(3)  Democratic equality (4) Division of Labour
JUts o e ¥ whafig w8 3
(1) =fFra AR (2) wANE. AR
(3) IS T (4) FrR-fvem
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131

132

133

134

Organising an activity of imaginary dialoguc between an Athenian and a Spartan showing .
their respective greatness indicates the correlation of social scicnce (History) with

(1) Scicnce (2) Language

(3) Biology (4) None of these
q%ﬁa@@mﬁa@%ﬁﬂaﬂﬁwwﬁwﬁwmﬁqﬁmw
& iy emitie o, aEiTE T (Efﬁm)ﬁiﬁfﬁfff@rﬁﬁafaﬂu%ﬁmer
wF e B IRE W € 7

(1) fagm (2) o

(3) ha fme 4) T ¥ T T
The Cone of Experiencc’ was given by

(1) William H. Kilpatrick (2) Edgar Dale

(3) Herbert Spencer (4) Thorndike
‘S & GG PREE 3T ¥ T

() fafwem wa. Rl () TR T

(3) TEE WL (4) oviEEs

Computers can be used in social science classes for :

(1)  Asscssment purposes

(2)  Electronic field trip

(3}  Scarching teaching support material through internet

(4) All of these

St R @ we A FegE @ v e W oawd §
(1) o wrdl SEwdl &g

Q) ot & el &g

3) TeeR b omwm ¥ R wens el ged 8

4) SR '

A teacher of social studies may update him/her sclf professionally through :
() Participating in refresher courscs

(b}  Attending conferences

(¢} Being an active member of Profcssional organization/bodics

(d) Reading joumals and magazines of his/her fields

(1) All the four (a, b, ¢, d) arc true (2) Only (a) and (d) true

(3) (a), (b) and (d) are true (4) Nonc of the above is true
W&Wﬂﬂ@ﬁ%@ﬁﬁmﬁiﬁ@q%mmw%:
(a) gwEEt wEmRAl H AT Wl

by wnied ¥ onfre @

© et e | faal o B e e

d) o & B wr-ufed 9wt

() @l 9% (a, b, ¢, d) T E @) ¥as (a) T (d) W ¥

(G)  (a). (b) TE (d) T F (@) ST A A BE wH T T
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I35 Which of the following isfare forms of objective type questions ?

136

137

138

139

140

(1) Multiple choice questions (2)  Match the pairs
(3) Both (1) and (2) {4)  Nonc of thesc
%ﬁ%#wﬁqm%wﬁ%m% ?

(1) uglmeda uss (2) SR et

@) () g (2) ¥ @) T 9w

Who among the following s popularly known as the father of social studies ?
(1) Ding Jones (2)  Herbert Spencer

(3} Thomas Jessejones {4) John Adams
ﬁwﬁ*@raﬁ?mmﬁﬁe?mﬁﬁsmﬁsmﬁm% ?

(1) < =g (2) W Waw

(3)  amE S ) W+ e

Which of the following is the correct sequence of the steps in unit plan 7

(1) Objectives of the unit plan — Content Analysis — Leaming Activities — Evaluation
(2) Content Analysis - Objectives of the Unit Plan — Learning Activities ~ Evaluation
(3} Content Anaslysis — Learning Activities — Objectives of the Unit Plan — Evaluation
(4)  Leaming Activitics — Content Analysis — Objectives of the Unit Plan — Evaluation

T Ao F R fre ¥ ¥ aver wwowd § 0

(1 m%ﬁw%a%su---ﬁwwﬁwﬁwm~aﬁnmwﬁﬁr%--w
@) Fvgayg fasdwr - e doe % st - ey T - geaig
(3) M%&W—Wﬁ%ﬁ—mﬁm%v&w-m
() wftrm iRt - Rromeg Ryseor - TR TS F AR - T

Who among the following was the chairperson of National Stecring Committee for
NCF 2005 7

(1) Shri Arjun Singh (2)  Prof. Krishna Kumar
(3)  Prof Yash Pal {4)  Prof Ved Prakash
ﬁwﬁ@raﬁqﬁsm@uﬁwzﬁﬂﬁNCFz(mj%am{& ?

(1) & swf7 fue () W Fwr Faw

(3) W U (4) W 9T g
Teacher should present the content in the class :

(I} Partially {2)  Step by step

{(3)  Holisticailv {4) Nonc of the above
%mazga%aﬁmﬁﬁrmmmaﬁﬁmwm%&:

(1) oferar 2) €N wg

(3) quRw (4) T F 9 FE A

"An attempt to make a situation clear to solve problem by dramatization".
The above statcment demonstrate which of the following practices ?

(1) Problem Solving (2)  Rolec Playing

(3)  Dramatization {(4) Brain Storming

wo HmUT e ¥ few ww e @ qala 17 |

(1) e ga e : )  YfeEm frafs

(3) EPHrEEmLTr _ (4) 39 T
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142

143

144

145

Which of the following is the most appropriatc role of a social studies teacher ?
(1) Answering student's questions directly

(2) Setting the enviromment for learning

(3) Directing the students to follow the right approach/methed

(4) Motivate the students 10 think convergently

mﬁimawﬂrwﬁﬁwﬁﬁaﬁﬂﬁrmiﬁwéﬁ%?
(N BEF ¥ WA @ vEE w1 ¥ Sul &

@) T % fd aweEer & BT

(3) ffxmﬁfdfﬁmrgaﬂﬁfixﬁiﬁr&ﬁ%sﬁh

(4) frenfial @y %hw foew & R at@ o

While preparing a lesson plan, a teacher writes instructional objective as 'students will
be able to describe the meaning of Democracy’ this objective will come under :
(1) Kuoowledge (2)  Understanding

(3)  Application (4) Analysis ’
wﬁmaﬁmmmw‘ﬁmﬁﬁﬁmﬁaﬁwaﬂhmeﬁr CREHNIRCT
a%su%@m/ﬁr@?ﬁ%r’uza%mﬁﬁaﬁmﬁam?

(N (2) oEY

(3) eI (4) Tasersor

Which type of questions will not develop critical thinking among social studies students ?
(1) Close ended questions (2) Divergent questions

(3) Open ended questions (4) Probing questions

ﬁww%ﬁqaqmﬁﬁaw%ﬁaﬁ@ﬁfﬁm%ﬁﬁﬁﬂm
& W 7

(1) d8 9% (2) oSOERl HeT

(3) g U (4) @I 99T

Which one of the following is against the spirit of the pedagogy of social studics 7
() Making good human relations in the socisty

(2) Making students appear I as many cxaminations as posible

(3) Alignment of experiences to important results

(4) Designing such experiences that can create interest in students

ﬁﬂ%ﬁaﬁﬁ%ﬁmmﬁmam%ﬁmmaﬁm%ﬁm%?
(1) e ¥ o AMEd Ea " T

(2) Ry @ oftrr ¥ ot wliemell & afwfad &

3) qﬁﬁqﬁmﬁ%maaﬁzﬁ‘aﬁaﬁqﬁmm

(4) ﬁﬁ&jﬂﬁwaﬁiﬁqﬁmﬁﬁﬁmﬂﬁfﬁﬁmﬁl

Following all are the principles of construction of social studies curriculum, except

(1) Principte of utihity (2) Principlc of flexibility

(3) Principle of Activity (4) Conservative E

e A @ Wl aWle swmew @ weweE & tein ¥ R ¥, R
(1) wuafmr @ R (2) e & e

(3) T = fear (4) wlear

36_ A} 30 [ Contd...



146 A good test should bs :

(I} Reliable (2) valid

(3)  Discriminative (4) All of the above
T SUq T g il

(1) oy 2) 3ay

(3) Rrvigsr 4) SuE wdl

147 Which of the following options would be best to enable the children of class VIl to
cxpress their creativity ?
(1) Reading newspaper (2} Preparation of serap book
(3}  Preparation of chart (4)  Collection of coins

%ﬁ%ﬁﬁ%ﬂﬁﬂ%ﬁ%ﬁﬂl%@ﬁﬁﬂ@ﬁf%ﬁﬂﬁﬁﬁﬁ&h
HH ¥ SUgH W 7

(1) ¥ ER W yg (2) 9 9% AR FHE

(3) ad (4) fTowel @1 e

148  Lecarning takes place
(1) in the school (2)  outside the school
(3} both within and ocutside the school (4) only in the class room

Fiftpr Bar & -
(1) frames & (2) Taenem & @y
(3) =M fremern % wa R ¥ TRy (4)  Had w3 B F

149 Introduction of continuous and comprehensive evaluation has made the evaluation system
(1)  Morc refrective of the entire personality of the students
(2)  Complex by incorporating too many details
(3) Vague as exact rank of the student cannot be found out :
{4) Morc comprehensive (o analyze the performance only in the school areas
VA QI UE i A YT N i o @y -
(1) % & gqoi afema & o valife & amm smr &)
@) wgd of faaor @ w5y whw e R
G) o T ¥ s fendt % ffes Yo B e @ o gea 3
@) e e @ ¥ Prower @ fasder WY ¥ R s w3

150 An cffective teacher is one who can
(1) Control the class
(2)  Give more information
(3) Motivate students to learn
(4)  Correct thc assignment caretully

Uh 9t R a8 ¥ W -

(1) e a3 fgsor @ o5

(2) af“dai@ﬁﬁ%ﬂ%

(3) fermf¥a @ ormmw ¥ Ry O = T%
4) TR W wmawd @ sitg w1 uw
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